
Q : Why is sta luK2 ?
O deg+ rankzu=

↓
-
- Geo

dimX=1 , Stab(X)> (CohX,Zu LIII)=Stab(X)- 7. G
T

DOx is d

om-stable ↑E (0 .% , EEconX M-semisable
Eou"geomchic" [ E) EEP(d)

, z(E)=re
*Y

& E(n ,MH]
,
objec in P(O)

as Enyes E[R] , his M-Senishable
↓ E
-

GLECIR) KXIH GLEtiR) = C
*
XIH -

↑

scaling tsteering
g (X)>, 1 , slas(X) = (LohY, En) . GER)

If
Geo

Stas (X) XI
- k2

X= 1P1 : DSP) =>DRep( : )
-

Stab(LP) E-Hom(OOO(D ,E)Ut3GeoStas (x) mo = (RpQ , z)
m Stas (x) (2
-

ASIDE : So Stas' bigger than Stab ((g)g71 ,-

it .Stabit captures something about how IP'& Cy
aredifferent














